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CID 16179
	CID
	Page.

Line
	Clause Number
	Comment
	Proposed Change
	Resolution

	16179
	462.45
	28.3.10.7.2
	No behaviour is associated with the "TxBF" field in HE-SIG-A
	At the end of the rightmost cell for the row on TxBF in the cited subclause, add a "NOTE---This field enables the receiver to make decisions about smoothing."
	REJECTED
In 11ax, the Rx may perform smoothing, when the Tx beamforming is applied.
Note to Editor:  This resolution is the same as that of CID16180


CID 15979
	CID
	Page.

Line
	Clause Number
	Comment
	Proposed Change
	Resolution

	15979
	460.43
	28.3.10.7.2
	The wording for DCM and STBC should be the same
	Align the wording for the DCM row and the STBC row in Table 28-18
	REVISED
Each field should indicate how to set its own corresponding value.

Whilst the note that DCM is not applied in combination with STBC applies to both two fields.
Notes to the IEEE 802.11ax editor:

Please make the changes according to 18-1764r0.


Notes to the IEEE 802.11ax editor:

Please make the following changes to L17, P482 of P802.11ax D3.2
	Bit 
	Field
	Number of bits
	Description

	B7
	DCM
	1
	Indicates whether or not DCM is applied to the Data field for the MCS indicated. 
If the STBC field is 0, then set to 1 to indicate that DCM is applied to the Data field. Neither DCM nor STBC shall be applied if(#15489) both the DCM and STBC are set to 1. 
Set to 0 to indicate that DCM is not applied to the Data field. 
NOTE—DCM is applied only to HE-MCSs 0, 1, 3 and 4. DCM is applied only to 1 and 2 spatial streams. DCM is not applied in combination with STBC(#15490).

	B9
	STBC
	1
	Indicates whether or not STBC is applied to the Data field.
  If the DCM field is set to 0, then set to 1 if space time block coding is used. Neither DCM nor STBC shall be applied if(#15493) both the DCM field and STBC field are set to 1. 

  Set to 0 otherwise.
NOTE—DCM is not applied in combination with STBC.


Abstract


This submission contains proposed comment resolutions to comments on D3.0.





CID 16179, 15979 are resolved in this document:
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